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�4D>4 FD4=E?>DF=>7> ED54EF64 Renault 

&<? FD4=E?>DF=>7> ED54EF64 BJ (Vel Satis) 

�>4<D<>4F<O (65DE<O) BJ0K?6, BJ0K?B, BJ0P?6, BJ0P?B, BJ0C?6, BJ0C?B, BJ0U?B, 

BJ0V?B, BJ05?6, BJ05?B, BJ01?B, BJ0W?6, BJ0W?B 

�4F57>D<O FD4=E?>DF=>7> ED54EF64 �1 

�>4 &� �-�  8703 23 (<>4. BJ0K??, BJ0P??, BJ0C??, BJ05??, BJ0W??), 

8703 24 (<>4. BJ0U??, BJ0V??, BJ01??) 

�>4 VIN VF1BJ0??????????? 

->>?>7<G5E><= >?4EE 2 (4?O <>4. BJ0C??, BJ05?? E 46. F4R, 4?O <>4. BJ0U?? E 46. V4Y) 

3 (4?O <>4. BJ0P??, BJ0K?? E 46. F4R, 4?O <>4. BJ0V?? E 46. V4Y) 

4 (4?O <>4. BJ0W?? E 46. F4R, 4?O <>4. BJ01?? E 46. V4Y) 

�4O6<F5?L, ?D54EF46<F5?L <77>F>6<F5?O < 57> 

44D5E 

��� «�6F>DD4<>E» 

109147, $>EE<O, 7. �>E>64, G?. �>D>=F>6E>4O, 4. 35 

�77>F>6<F5?L < 57> 44D5E RENAULT s.a.s. 

13/15, Quai Alphonse le Gallo, 92100, Boulogne-

Billancourt, France 

%5>D>G=O= 746>4 < 57> 44D5E SANDOUVILLE 

Z.I Portuaire du Havre BP 134, 76051 le Havre Cedex, 

France 
 

��-�� %�$��&�$�%&��� &$��%��$&���� %$��%&�� 

 

�>?5E=4O D>D<G?4 / 654GM<5 >>?5E4 4E2/?5D54=<5 
 

%E5<4 >><?>=>6>< FD4=E?>DF=>7> 

ED54EF64 
�5D54=5?D<6>4=4O, E ?5D54=<< ?>?5D5G=O< D4E?>?>65=<5< 

46<74F5?O 

&<? >G7>64 / >>?<G5EF6> 465D5= %5FG55>, F5?L=><5F4??<G5E><=, =5EGM57> F<?4/5 

�>?<G5EF6> <5EF E?5D54</E744< 2/3 SE
RT
AU
TO
.R
U



  

 

 

 

 
                                                                                                                                                                  2 

 
                                                             $�%% FR.�&27.�00257 

 

 

 
�?O <>4<D<>4F<=: BJ0K??, BJ0P??, BJ0C??, BJ05??, 

BJ0W?? 
BJ0U??, BJ0V??, BJ01?? 

�454D<F=O5 D47<5DO, <<  

- 4?<=4 4860 

- L<D<=4 1860 

- 6OE>F4 1577 

�474, << 2840 

�>?5O ?5D54=<E / 744=<E >>?5E, << 1575/1550 

�4EE4 E=4DO65==>7>  

FD4=E?>DF=>7> ED54EF64, >7 (?> �%& 

37.001.408-85) 

 

1640�1805 

 

1720�1865 

�>?=4O <4EE4  

FD4=E?>DF=>7> ED54EF64, >7 
2190�2210 2270 

- =4 ?5D54=NN >EL 1182�1208 1268 

- =4 744=NN >EL 1008�1002 1002 

�>?GEF<<4O ?>?=4O <4EE4 ?D<F5?4, >7  
- ?D<F5? 557 F>D<>7>6 750 
- ?D<F5? E F>D<>74<< 1600 

Renault,  

F4R 

Renault,  

V4Y 

�6<74F5?L (<4D>4, 

F<?) 

55=7<=>6O=, G5FOD5EF4>F=O=, 6<4>>EF=>7> >E?4645=<O 
�>?<G5EF6> <  

D4E?>?>65=<5 F<?<=4D>6 
4, DO4=>5 6, V->5D47=>5 

$45>G<= >5N5<, E<3 1998 3498 
%F5?5=L E64F<O 9,5 10,3 
�4>E<<4?L=4O  <>M=>EFL, >�F (<<=-1) 120 (5000)           125 (5000) 176 <?< 177 (6000) 
�4>E<<4?L=O= >DGFOM<= <><5=F,   

�.< (<<=-1) 
250 (2000)        270 (3250) 330 (3600) 

&>??<6> 55=7<= E >>F4=>6O< G<E?>< =5 <5=55 95  

%<EF5<4 ?<F4=<O D4E?D545?5==O= 6?DOE> F>??<64  

�?>> G?D46?5=<O E<EF5<>= 6?DOE>4 (<4D>4, 
F<?) 

Renault/Sagem 

JCAE-Sagem 

82 00 119 909, 82 00 119 911, 82 00 194 585,  

82 00 311 837, 82 00 311 833, 82 00 119 914,  

82 00 311 839, 82 00 311 850, 82 00 460 272,  

82 00 460 275, 82 00 401 508, 82 00 460 272,  

82 00 401 537 

Renault/Hitachi 

82 00 147 507,  

82 00 147 508,  

82 00 493 356, 

82 00 526 756 

$>DEG=>< (<4D>4, F<?) Renault,  

82 06 42 28, 82 00 272 182 

UNISIA JECS 

FBJC 101 

&GD5>>><?D5EE>D  Renault, 82 00 054 417 

Renault, E D<?LFDGNM<< M?5<5=F>< EGE>7> F<?4,  �>74GL=O= D<?LFD (<4D>4, F<?) 

82 00 022 518, � 82 00 235 012 82 00 163 738 696, 82 00 224 293 
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�?O <>4<D<>4F<=: BJ0K??, BJ0P??, BJ0C??, BJ05??, 

BJ0W?? 
BJ0U??, BJ0V??, BJ01?? 

%<EF5<4 746<74=<O <<>D>?D>F5EE>D=4O 

�?>> G?D46?5=<O 746<74=<5< (<4D>4, 

F<?) 

E>6<5M5= E 5?>>>< G?D46?5=<O E<EF5<>= 6?DOE>4 

�4FGL>4 746<74=<O (<4D>4, F<?) Beru, Crayon 

%65G< 746<74=<O (<4D>4, F<?) Eyquem: C52LS, C52LS3, RFC50LZ2E, RFN58LZ, RC52LS, RFC52LS, RFC52LZ2, 

RFC57LS3, RFN58LZ, RFC58LS3, FC52LS, FC58LS3. 

Champion: C9YCX, RC10DMC, RC10YCC, RC10YC, C10YC, RC10YCX, RC89YCL, 

RC87YCL, N7YCX, N281YC, REC14PYC, RC7BMC, C7BMC. 

NGK: BCP5ES, BKR5ESZA, PRF6E10. 

Bosch: FR7LDC, FR7KDC, W7DCO, W8DCO, W8DCO4, WR8DCO4, WR7LDC. 

%<EF5<4 6O?GE>4 < =5=FD4?<74F<< 

>FD45>F46L<E 747>6 

�64 7?GL<F5?O, 

E<EF5<4 =5=FD4?<74F<< >FD45>F46L<E 747>6 

�E=>6=>= 7?GL<F5?L (<4D>4, F<?) Renault, 297, 345, 387 Renault, 345, 387 

�>?>?=<F5?L=O= 7?GL<F5?L (<4D>4, 

F<?) 

Renault, 254 

�5=FD4?<74F>D (<4D>4, F<?) Renault, 82 00 050 386, 82 00 115 217 Renault, C202, C203, C204(x2), C281, C282, 

C282(x2) 

&D4=E<<EE<O �5E4=<G5E>4O �<4D><5E4=<G5E>4O  

%F5??5=<5 (<4D>4, F<?) Renault, >4=>4<E>>6>5, EGE>5, E 

F5=FD4?L=>= 4<4DD47<5==>= ?DG6<=>=, E 

7<4D46?<G5E><< ?D<6>4>< 

� 

�?O <>4<D<>4F<=: BJ0K?6, BJ0P?6, BJ0C?6, BJ05?6, BJ0W?6 BJ0U?�, BJ0V?�, BJ01?�, BJ0K?�, 

BJ0P?�, BJ0C?�, BJ05?�, BJ0W?� 

�>D>5>4 ?5D544G (<4D>4, F<?) PK6,  

?>?=>EFLN E<=D>=<7<D>64==4O, E DGG=O< 

?5D5>?NG5=<5< ?5D544G 

SU1,  

E 46F><4F<G5E><< ?5D5>?NG5=<5< 

?5D544G 

'<E?> ?5D544G 

 

?5D544F>G=O5 G<E?4  >>D>5>< ?5D544G: 

I  

II 

III 

IV 

V 

V� 

3x 

6?5D54- 6, =4744  - 1 

 

 

3,909 

2,105 

1,483 

1,103 

0,897 

0,756 

3,545 

6?5D54 � 5, =4744 � 1 

 

 

4,685 

2,942 

1,923 

1,301 

1,000 

� 

3,775 

�?46=4O ?5D544G4 (<4D>4, F<?) Renault, F<?<=4D<G5E>4O, >>E>7G54O 

- ?5D544F>G=>5 G<E?> 7?46=>= 

?5D544G< 

4,188 2,484/2,813 
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�>465E>4  

- ?5D54=OO �5746<E<<4O, ?DG6<==4O, F<?4-�E. Pherson, E> EF45<?<74F>D>< ?>?5D5G=>= GEF>=G<6>EF<  

- 744=OO �5746<E<<4O, ?DG6<==4O, <=>7>DOG46=4O E 7<4D46?<G5E><<< F5?5E>>?<G5E><<< 4<>DF<74F>D4<<, 

E> EF45<?<74F>D>< ?>?5D5G=>= GEF>=G<6>EF<. 

$G?56>5 G?D46?5=<5 (<4D>4, 

F<?) 

Renault, DG?56>= <5E4=<7< F<?4 «L5EF5D=O-D5=>4», DG?56>= ?D<6>4 E 7<4D>GE<?<F5?5<. 

&>D<>7=O5 E<EF5<O:  

- D45>G4O % 7<4D46?<G5E><< 46GE>>=FGD=O< 4<47>=4?L=> D4745?5==O< ?D<6>4><, 4<E>>6O5 F>D<>7=O5 

<5E4=<7<O =4 ?5D54=<E < 744=<E >>?5E4E. �=F<5?>><D>6>G=4O E<EF5<4 >4F57>D<< 1. 

- 74?4E=4O �464O= >>=FGD D45>G5= F>D<>7=>= E<EF5<O. 

- EF>O=>G=4O  -?5>FD><5E4=<G5E><= ?D<6>4 F>D<>7=OE <5E4=<7<>6 744=<E >>?5E. 

  

,<=O  <4D>4 $47<5D �=45>E =5EGM5= E?>E>5=>EF< �4F57>D<O E>>D>EF< 

 � 225/55 R17 97 <?< 101 V <?< W 

 � 245/45 R18 100 W 

 � 225/55 R17 M+S 97 <?< 101 V <?< Y 

 � 185/60 R17 C 96 <?< 97 R 

�>?>?=<F5?L=>5 

>5>DG4>64=<5 FD4=E?>DF=>7> 

ED54EF64 

-?5>FD<G5E><= EF5>?>>G<EF<F5?L 65FD>6>7> EF5>?4 E 6>7<>6=>EFLN 46F><4F<G5E>>7> 6>?NG5=<O, 

><O64F5?L D4D, EF5>?>?>4N5<=<>< 465D5= E M?5>FD>?D<6>4><, 464 =4DG6=OE 75D>4?4 744=57> 6<44 E 

M?5>FD>?D<6>4>< < >5>7D56><, ?N> 6 >DOL>5, ?D>F<6>G7>==>5 GEFD>=EF6> (<<<>5<?4=75D), 

M?5>FD>?D<6>4 74<>>6 465D5= E 4<EF4=F<>==O< G?D46?5=<5<, >>=4<F<>=5D (E?44475=F R-1344) <?< 

E<EF5<4 >?<<4F->>=FD>?O, E<EF5<4 ?>4>7D564 E<45=<=, EF5D5><47=<F>?4/%D-D5E<65D/CD-G5==465D E 

4<EF4=F<>==O< G?D46?5=<5<, ?>4GL>< 557>?4E=>EF<, >>?5E4 <7 ?57><E E??46>6, ?D>F<6>FG<4==O5 

D4DO, E<EF5<4 «?4D>FD>=<>», =46<74F<>==4O E<EF5<4, 5>DF>6>= >><?LNF5D. 

    �5=EF6<5 44==>7> «�4>5D5=<O F<?4 FD4=E?>DF=>7> ED54EF64» D4E?D>EFD4=O5FEO =4 ?4DF<N G>474==OE 

FD4=E?>DF=OE ED54EF6 6 >>?<G5EF65 150 (EF4 ?OF<45EOF<) LFG>, 66>7<<OE ?> 4>7>6>DG 7 FR/18609799/54 >F 

30.06.20047. 

   �5>?4D4F<< > 66>7<<OE =4 F5DD<F>D<N $>EE<=E>>= $545D4F<< FD4=E?>DF=OE ED54EF6 44==>7> F<?4 

(D47<5D < >F?<G<F5?L=O5 ?D<7=4>< >F45?L=OE ?4DF<=) ?5D544NFEO ?D><76>4<F5?5< <?< >D<F<4?L=O< 4<?5D>< 

565<5EOG=> (6=5 746<E<<>EF< >F D4>F4 ?>EF46><) 6 �D74= ?> E5DF<D<>4F<<, =4 >E=>64=<< G57> 6O44NFEO 

7465D5==O5 >>?<< «�4>5D5=<= F<?4 FD4=E?>DF=>7> ED54EF64». 
 

 

Renault Vel Satis BJ (BJ0K?6, BJ0K?B, BJ0P?6, BJ0P?B, BJ0C?6, BJ0C?B, 

BJ0U?B, BJ0V?B, BJ05?6, BJ05?B, BJ01?B, BJ0W?6, BJ0W?B) 

 

 
      �?<E4=<5 <4D><D>6>< FD4=E?>DF=>7> ED54EF64 ?D54EF46?5=> 6 ?D<?>65=<< 7 2. 

      �5M<= 6<4 FD4=E?>DF=OE ED54EF6 =4 1->< ?<EF5 ?D54EF46?5= 6 ?D<?>65=<< 7 3. 

 
 

 

     �.�. �5=<E>6             %.�. �G74G56 
 

     �5=EF6G5F E « 20  »  4?D5?O  2006 7. 
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�D<?>65=<5 72 > «�4>5D5=<N  

                                                                                                         F<?4 FD4=E?>DF=>7> ED54EF64» 
 

 

���%���� ��$��$���� &$��%��$&���� %$��%&�� 

 

1.  �5EF> D4E?>?>65=<O < D>D<4 7=4>4 E>>F65FEF6<O: 

 

$O4>< E F45?<G>>= <77>F>6<F5?O.  

 

�=4> E>>F65FEF6<O 6O?>?=5= ?> ��%& $ 50460 E G>474=<5< =><5D4 44==>7> 

«�4>5D5=<O F<?4 FD4=E?>DF=>7> ED54EF64». 

 

2.  �5EF> D4E?>?>65=<O F45?<G>< <77>F>6<F5?O: 

 

� ?D46>< ?5D54=5< 465D=>< ?D>5<5 6 =<6=5= G4EF< F5=FD4?L=>= EF>=>< >G7>64. 

 

3.  �5EF> D4E?>?>65=<O <45=F<D<>4F<>==>7> =><5D4 (>>4 VIN): 

3.1 �4 F45?<G>5 <77>F>6<F5?O. 

3.2 �>4 >4?>F><, 6 65DE=5= G4EF< ?5D57>D>4>< <>F>D=>7> >FE5>4 E ?D46>= EF>D>=O. 

 

4.  %FDG>FGD4 < E>45D64=<5 <45=F<D<>4F<>==>7> =><5D4 (=><5D>6) FD4=E?>DF=OE ED54EF6: 

 

1.  2. 3. 4. 5. 6. 7. 8. 9. 10. 11. 12. 13. 14. 15. 16. 17. 

V F 1 B J 0 ? ? ? ? ? ? ? ? ? ? ? 

 

?>7. 1-3: �564G=4D>4=O= <45=F<D<>4F<>==O= >>4 <77>F>6<F5?O (WMI): 

VF1 � >>4 <77>F>6<F5?O � Renault s.a.s., France; 

?>7. 4: F<? >G7>64 

 � � E5FG55>; 

?>7.5: <>45?L FD4=E?>DF=>7> ED54EF64 

 J � Vel Satis; 

?>7. 6-7: F<? 46<74F5?O: 

   0�, 0$, 0%, 05, 0W � F4R;  

   0U, 0V, 01 � V4Y; 

?>7. 8:  0, 4 - 64D<4=F <E?>?=5=<O; 

?>7. 9:  F<? >>D>5>< ?5D544G: 

  6 � <5E4=<G5E>4O, L5EF<EFG?5=G4F4O; 

  � � 46F><4F<G5E>4O, ?OF<EFG?5=G4F4O; 

?>7. 10-17: ???????? � ?D><76>4EF65==O= ?>DO4>>6O= =><5D FD4=E?>DF=>7> ED54EF64. 

. 
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�D<?>65=<5 73 > «�4>5D5=<N  

                                                                                                              F<?4 FD4=E?>DF=>7> ED54EF64» 
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